Biology - Sex-linked Genetics Problems


Name _______________________________________________________
Date ______________
1. Colorblindness is a recessive sex-linked disorder. Show the results of a cross between a color-blind male, and a heterozygous female (carrier for the allele). Give phenotypic ratios for your answers based on males and females.

2. If a man who is color-blind is married to a woman who is normal (and not a carrier), will any of their children have a chance of being color-blind?
3. A color-blind woman marries a man with normal vision.  What percent of her sons and what percent of her daughters might show color-blindness?

4. A colorblind man, Fred, marries Suzy who has normal vision. Suzy’s mother had normal vision, but her father was colorblind. 

a. What is Suzy’s genotype? 

b. Make a punnett square showing the likely prospect of colorblindness in Fred and Suzy’s future children. Give phenotypic ratios. 

